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Part-A
1) Which of the following satisfies 3U=4V+W _ 59
2
Ju=7,v=1,w=3 iju=1,v=-3,w=7 iilju=-1,v=7,w=3iviju=7,v=1,w=-3
2)  Which of the following satisfies (p + q)(p - q) = -2?
i) p=8,9g=5 S RS- e iv) p=3,9=9
3)  Which of the follov PRE V IEW
i) m=-3,n=2 iv) m=-3,n=-2
Gain complete access to the largest
4)  Which of the follovjcollection of worksheets in all subjects!
i) a=-2,b=1 iv) a=-2,b=3
1) Which of the follov
i) rP-rs+8>-5 iv) s°-rs—8<-5
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2)  Which of the following inequality is trueatx=1,y=-4and z=3?
) Xy(x-2)=9 i) xy’(x-2)>7 i) xy’(x+2z) <7 iv) Xy(x+2z)<9
3)  Which of the following inequality is true at c=4 and d = 8?
) 4cd+c gy ) 3d-d gy i) 3edtd gy y) 4cd-c ooy
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